Group 1: Dave Buonconsiglio, Richard Harrell, Devon Moore, Traveon Williams,
MET 330
Dr. Ayala
October 28, 2021
HW #2.3

Devon Moore: Looking at this week’s slides, they were similar to the Orifice Plate Coefficients
experiment done in the lab recently. The slides help emphasize how a change pipe diameter
due to an orifice plate or a nozzle relates to flow rate, showing the decrease in diameter causes
an increase in flow rate and vice versa. The forces due to a fluid in motion slides show how
objects respond to fluids in motion and the importance of bracing piping systems to counteract
this force. This is further explored in the second part of the test this week.

Dave Buonconsiglio: This week’s lessons were enjoyable, as we learned about velocity, and
how to calculate it. | had a slight understanding of pitot tubes before from my aviation
experience, but this gave me a whole new view into their world and how they work. | always
wondered how a tube sticking off the side of an airplane can tell the airspeed... Now | know.
This also gave me more of an insight into the calculations that are involved in HVAC work,
another field where | have some experience. | helped the pro work on repairing the systems at
a school that | used to do maintenance at. In fact, HYAC was the biggest part of the job there.

Richard Harrell:
Traveon Williams:
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